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1. Which of the following districts of Haryana
shares its boundary with 2 States ?
(A) Yamunanagar (B) Rewari
{C) Mahendragarh (D) Charkhi Dadri
2. The total number of terms in the expansion
of (x +a)* - (x — a)*' after simplification is

(A) 102 8) 25
(C) 26 (D) None of these
3. What i the remainder when 2'# is divided
by 117
u{] 7 (8 10
(C) 8 D) &
4. Which of the following is not a para graph
formatting 7
{A) Alignment
(B) Indentation

(C) Line spacing
(D) Underline style

Forgery is defined in IPC under

(A) Section468  (B) Section 463

(C) Section 465 (D) Section 467
g. |t ‘*CENTRE' can be wiitlen as ‘CNRCNR'

how "HAPPY" can be writlen in thal

code 7

(A) YHPYA (B) HPYHP

[C) AHFYA D) HPYAP
7. Synihesis consists of heating

primary gmine and aldehyde with sulphuric
acid 1o give quindlineg

(A) Skraup

(B) Doebner-Mier

(C) Duff

(O) Knor quingling

arters town founded b
h‘i‘”‘;“f}' who named It
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9. Which of the following is not a geographical
teature of Haryana 7

(A} Lower Shivalik Hillg
(B) Bagar Tract

(C) Yamuna Ghaggar Plain
(0) Chambal Valley

10. Capital of Syria is
(&) Mousel
(C) Damascus

{B) Kabul
(D) Tel Aviv

The layer of the atmosphere where electrical
conductivity takes place

(A) Stralosphere  (B) Troposphere
(C) lonosphere (O} Mesosphere

12, The book, ‘| Do What | Do’ is written by
{A) Raghuram Rajan
(B) Urjit Patel
(C) Aravind Subramanian

(D) Aravind Panagariya

11.

13, type is best suited to
represent logical values.
{A) Enum (B) Char
(C) Double (D} Bool

14. Let a, b, ¢, d, e be the observations with
the mean m and standard deviation 5. The
standard deviation of the observations ko,
b, by, b, o, I
A) k+s
(C) ks

(8) sk
D) s

15. What is the sum of the coefficients in the
expansion of (3 + 2x)™ 7
(A) 5% (B) 3=
(C) 2% (D) 6"

16. was established by Babar g
memorial 1o the victory over the throne of

Hindustan when he defeated Ibrahi i
in 1528, - Lod

(A) Shah Qalandar Mosque
(B) Kabuli Bagh

(C) Red Fort

(D) Peacock Throne
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17. Value of 31,I|3-.|'3.._.a: is
(A) Oor3 B) 3
1
© 33 (D) None of these

18.

19.

20.

21.

22.

23.

Haryana contains 2 Mational Parks, One of
them is Sultanpur National Park. The other
one is

(A) Bhindawas MNational Park

(B) HKalesar National Park

(C) Mahar Mational Park

(D) Chhilchhila National Park

Which of the following function keys is usled
as a toggle key for changing relerencing
modes 7
{A) F2
(C) F4
The law declared by the Supreme Court is
binding on &ll couns within the country. The
Article deals with this is

(A) 214 (B) 226

cy 141 (D) 324

Which of the following rwer:- does
hills

their origin in Aravali .V

{A) Sahibl river (B) Berach n:ﬂ

(c) Dohan river (D) Chenab

ich of the

(B) F8
(D) F&

not have

Compton Shift depends On wh

following ?

(A) Incident radiation

(B) MNature of scattering

(C) Angle of geattering
p) Ampltude of easene

( ia Was carved out from

s u-.rember 1989. On
in mergad with Kamal

substance

(B) Hisar
(D) Kurukshetra

%
b S

17.

18.

18.

21.

22

23.
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25.

26.

27.

28.

a.

32.

Ranikhet is a

(A) Viral dizease

(B) Nematode disease
(C) Prolozoan disease
(D) Fungal disease

Which is the prima .
n
S ™ S

(C) Sodium (D) Potassium
The Great Barrier Reef is located in

(A) Australia (B) England
(C) Saudi Arabia (D) Mew Zealand
HCV stands for

(A) Heavy Cash Vehicle

(B) Heawvy Commercial Vehicle
(C) Hand Commaercial Vehicle
(D) Heavy Consolidated vehicle

When Haryana was formed in 1966, ——
he second state languagée

was declaredas!

by pansilal Govi. -

(A) Punjabl (8) Hindi

(C) Haryanvi o) Tamil
1

For real X, it cos@ =x+;.u1en

(A) {5 an acute angle
() 0is right angle

(c) 8is an obluse angle
(D) Mo value of 018 P9

In year —— Chandigarh dec
first free city ol India.
(A g) 2004

(C) 2007
what is rial
gnake’ I8

(A

ared as thi
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33. Muhammad of Ghori '
Chauhan in which of ;‘::'faalﬁﬂ Pri;:?e:a?l
S Cliowing places *
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33. Muhammad of Ghori defeateq prithiral | 33. HIE=T TIH 3 Yot s Rrferfira
Chaummwhlchmuﬁlmwp:acﬂs? 48 e e R "
(A) Kuksheta () Panipat (&) T (®) v
(C) Rohtak (D) Taraor () TeT® ()
34. The statement TA&T Il FAAT where Tis | 34. F94 TRATIFagT ¢, =t
l{f;?ﬁ:‘ﬁ'ﬂhm - i Taa R dRFammd
) False (A) @ (8) W
35. Executive Head of the State is 35, T4 1 W vyw d
{A) Chief Minister (B) Governor (A) wEE (B) =TT
(C) President (D) Prime Minister (C) Tufa (D) R
36 Which is the smallest positive integer n,for | 36. W& BT e it n - & For
which (1 + ™ = (1=ij=2 e sim=-i=t?
(A 1 (B) 4 (A 1 B) 4
c) 2 D) © (C) 2 o 0
37. Which one of the following is correctly 37, Frafifis 33 #-m wh gifem @ 7
malched 7 (&) =iz 214 - T9 =TATEA ) EIE
(A) Anic::?l-i = Provisions for W WETH
establishment of High Court
(B) Alicle 227 - Every High Courts (8) argede 227 < S 3= ~IRITET
Court of Record o whea = e
(C) Anicla 76 = Supreme Court has C) C'-Elﬁ! 76 — FATEY =TTEA ¥ ™
Original duﬂsgmim e mitE a g |
D) Aricle 131 - Office of Accountant .
= General e (D) =02 131 - WRTEETER F1 Fwter
38. Find the missing latters that will complete | 38. e %1 yof FaTa e e wra =1 |
the series /_n_mim_n_I, L_n_mim”n=/ m
(A) mnmn (8] mnnm A4) mnmn (B) mnnm
(C) mnmm (D) nmmn (C) mnmm (D) nmmn
39, Existence of mango groves attests ks name | 39 ¥ % 3%a| w1 wifeiren Rrefirfiora 3 2 fiem
to which of the following city ? TR W W AW g 7
(A) Bangalore (B) Ambala (8) S (B) T
(C) Amamath (D) Chennal C) Hwiw © %=
40. How many Inlegers between 1 and 506are | 49,
divisible by either 3 or 5 7 m?ﬁhamﬁﬁmw
(A) 264 (&) 263 '
(A) 284
©) 262 (D) 254 : (8) 283
AT
i Voo 2
n.f« oo Py Yo
™ Y i
b L \
- A !

41. The quality factor (Q), resonant frequency

(f,) and bandwidth (f, - 1,) of series 1

circuit are related by the equatic )

(A) Q=ti-1) (B 9=7¢

-

4a1. mmﬂﬁw# s (o
wmﬂm%miﬂ}

— i T el
W Q=i1-1) (8 q=§;_fr. ‘
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41. The quality factor (Q), resonant frequenc¥ 1 TN S ofme & o A
(t) and bandwicth () of series eSO S sy (1) oM & W o )
circult are related by the equaton — Wi s R _
_k-h (A Q=kf A~
(&) Q=if-f) (B 9=7F ) Q=ift-1)  (8) 0"5? |
1 1 l
5 I'CI f= Q=1 D -
() 1,=af,-1) (@) at, {'="1_} h=Qt,-1) (O) % ""ﬂ[;—f.}
42. TheIndian Government selup Gﬂ’“m'sfgg 42 vma w3233, 1 95-553 ____;Eﬂ
under the Chairmanship of —— o o R & i 7 A 5
Aprl, 1966 to divide the existing S&/% T gftaren i dfrd Fruffs 73 10
Punjab and determine the boundarie = |
the new State of Haryana. m mrq\ﬁ:i_g&, -
(A) Justice J. C. Shah e b
(B) Justice M. Katju LG m*ﬁami
(C) Justice Deepak Mishra (C) guv
(D) Justice Ranjan Gogol (0) = G il
N b
43. Choose the word which is least ke the 4. TR TE
other words in the group. e & ST
Mettur (B) Aswan (A) ¥
p i (C) TFE (o) )
(C) Hirakud (D) Sutel N i
ich one of the following statement (s |44, an & ‘g¥ara a_;‘lwﬂ
e ::Tnfregl about ‘Harshacharitha’ of #A-w1 T mm = <fia
Banabhatta 7 . . tha lite (A) TEE T:Tﬂ # '
) Its first chapter is devoted 10 G e & T )
" and tamily lhejut?:iugr:nlﬁ. (B) q‘hﬁl‘l syorrq wiada & ol @
(B) The fifth chapter deals el 2 ik ‘
%:i-eﬂﬁ:lshﬂ;nda:eveﬁlh cha lefﬁf gmmaamﬁﬂﬂ“*&ﬁ 3R
O o win wars and condoe=s 1 - (9 g &
e chapter gives  descriponf (o) ifem srer fva & ¥ A
() e various religious sects iving in the vy i e 1 v 2 8
forests of Vindhyas . |
h =';."rr=5-'_'r'ﬁjr.zn=
T P 45, T35
i 451 =T F=5% thany+I= A a5 (B) x
45. A) 35 (B) x r nﬁﬂaﬁfqﬁ
) o2 o
1 (0) Wone of these [ |
© 3 . JRVESERERE
46, Chalrman of NITI Ayog 1S " ) R -
" () Finance Minister adiati
B President RGeS
(C) Prime Minkster (C) i
(D) Home Minister (0)

‘“ﬁ’}

Al
rl/bf\
p i,

3/2018 (4)
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a7.

48.

49,

50.

5.

52,

53.

A vertical spring is stretched by 3 o, when
alpadol Jkg is ﬂ"aﬂhﬂd toit. WHat will be
ihe period of oscillation of spring when a
load of 2.45 kg is attached 1o it 7

(A) 0.4155 (B) 03154

(C) 02155 D) 0.115¢

is considerag as

eritical manifesto of Urdy poetry,

(A) Mugaddam-e-Sher-o-Shayayi

(B) ‘Yaadgar-e-Ghalib

(C) Hayat-e-Saadi

(0) Woh Nabiyon Mein Rah
Paanaywala

the first

mal Lagak

The value of SNS0°
sin13ge

A =1

8 1

©) o

(D) Not defined

In 18"™ Asian Games, 201
lopped the chart among
18 medals. These gam
(A} Malaysia
(C) Indonesia

8, Haryang
Indian States with
25 were held in

(B) Delni

(D) China

Hormone responsible for milk let down is
(A) Oxytocin

(B) ACH

) H

(D) Mone of these

If two evenls are independent, then
(A) They must be mutually exclusive

(B) The sum of their probabilities must be
equal to 1

(C) (A)and (B)are correct
(D) Mone of the above is correct

As of now, number of national highways in
the State of Haryana are

(A) 25 (8) 29
(C) 32 (o) 36

54. Complete the serles starting with the
given number, following the ean: imnees

ar.

48.

49.

50,

51.

s2

53.

54. I 0 Srgem i

TP TS ara—— e
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safuFn ey 0 R CRERY
(A) 0415
(C) 0215 (5) 0315

@) D115

mmwﬁﬁmmmmm
(A) W"I~i‘lﬂ:‘|.m
(B) m-q.:—nf‘aa

(C) T -y-grd
©) A 3R & vy TR YT

sin50* .
.F'

sin1ags 7 7 &
(&) =1
(8 1
) 0

(0) whvrfim = fem = wm

183 Wfird @, 2018 5 wfeamon 3 18 927
% W AR R % 9 | i e e
e 1A dm e g 7

(R) Tt (B) femeht

(C) Ffim (0) ¥R

30 T ¥ for, avrcemdt v 2

(A) Hlwdrefie

(B) AGCH

(€) LH

(D) ¥ & = 7

a2 2 o = €, @

(&) T 9T S99y i

(B) TR mitwanadi =1 4 1 & wow v

(€) (A) 3l (B) Wt &
(D) ¥ & 4 =rd welt = §

i #, wfrn v v w6
e B

(A) 25 8 29

(C) 32 D)y 38
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54. Complete the series starting with
given number, following l.hrE aequ;ﬁe
of original series. What will come in the

place of (iii) ?
105 58 27 14 75 425
85 1] (i) (i (V)
(A) 95 (B) 115
(C) 9 o) 1
5. orHTTPis the most popular

protocol 1o connect web applications
(A) Hyper Text Transfer Protocol
(B) Higher Text Transler Protocol
(C) Higher Transfer of Text Protocol
(D) Highest Text Transfer Protocol

56. The Arts and Cultural Heritage Trust
(TAACHT) has set up the world's first
Partition Museum at Town Hall, Amsitsar,
Punjab, India. Chairman of this Trust is
(A) Kishwar Desai
(B) Preeti Singh
{C) Sunita Jain
(D) None of the abaove

57. Haryana's first armed _!nrw-!' preparatony
institute will be set upin
(A) Panipal
(8) Sonipal
() Chandigarh
(D) Hisar

5" In ﬂ"ﬂ:ﬁt Df [}
main aim isto .
of the foliowing features ?
(A) Dnn‘rm N
(8) High yielding 204ty

o) Change in maturity date

s tect the 0dd numerical pair.

(A} (16, 18)

g (56, 63

(C) (96.109)

he breeding pmﬂrammas t_he
develop varieties with which

www.makemyexam.in

- Powered by IBT
Scanned by CamScanner

| 32018 (4)
54. 5 T F S700 WA gy A orf e A
Y T

105 53
8
(A) 95
(©) 9

21 14 75 425

i) @ @ W
(8 15
o) 1

_WHTTRPH “‘J’mﬁ

¥ oy st s vl £ 1

(A) T 2 e SR

(B) W 2 g,

(C) wrm e T ZFEL

(0) TR Pz ZEe TR

56.

57, el o e @ 7

st v w4, O S
%% oot 1 & i i 2 fee
frsfmam b 7

(4) FE
(8) 39 37 W
(C) wEm A
(o) Wi fafa &
fir= s W
(A) (16, 18)

(B) (56, 63)
(C) (96, 108)

54,

(o) (86, 59)

/2018 (4)

u.-.mﬂﬂli

(D) (86, &9)
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60. hows US that every man invested with = v =
¢ Is apt to abuse It, and 1o carry his # R T T A M ¢ 'i“ﬁ
" inorityunl he is contronted with fmits 78 98 3 R am ), o e
Tnis Iswkgnfmlhﬂmﬂk {gmmmtl
(A) Social Contract (A) T
(8) Leviathan (B) TR
¢) The Republic () = ffeers
(o) The Spirit of Laws (D) = e =i ==
algorithms compresses | 61. _____ Teiivam fafed sitwdi =
1. : . .

5 video data 1o reduce number of bytes arza i wem e & e wdtfim = i
that can be easily transmitted angd then  ofF T T @ T B W o e
decompressed. -y
(A) VolP () MPEG (A) VolP (B) MPEG
(C) ETHERNET (D) LAN (C) ETHERNET (D) LAN

62 Whatisthe genotype of humanblood group | g2, w7t AB = T = 4 ?

J{Hf] ?I"' e ® i N PP B
c) i (D) i cy "t (D) 1® .
63. Hurl'lbilr! of cities included under Smart 3. =1 fdt fevma 1 firs il ot W B
Citias Mission is
) 99 (8) 100 \\& e
(C) 199 (D) None of these ©) 199 (D) TH B wrd T
64. _is considered as Haryana's first | 64. = efen w1 veen g8 =H |
aver Sufi poet. ek ok f
(A) Shaikh Muhammad Turk (A) TrE P T
(B) Shah Gulam Jilani (8) e s famrh
(C) Shah Muhammad Ramzan Shaheed (C) T8 TEE TIAH T
(D) MNone of the above (D) W H | = T
65. Whowas the first woman judge of Supreme | 65, wra ¥ waTea =raTera 1 wrE wfven
Court of India ? =t B ) 7
(A) Fatima Beevi (A) e o
(B) Rama Paul (8) s
(C) Sujata Manchar (C) Fwma
(D) None of the above (D) gﬂ'ﬂ‘.ﬁ' A8 o =
g6. Recently, which of the following States 66, ¥ T ¥, Frofafos § @ fea Tsn 3
itfidrawn the ‘general’ consent ’
Rmpna Gy | T
e ians | ot o)
ti h wit ) (
?nntgrgnﬁ?munmﬁ&enﬁr?gntte Cuie At 'am R amawd 7
(A) Kamataka (B) Punjab (A) FHTE (B) e
(C) Delhi (D) Andhra Pradesh (©) feeht (0) FusEw
K A0-
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g7. What is the circum radius (in cm) of an ; ot (8.5, #) T |
equilateral trianala whres -ui:l-:h e E]rm ™ ] 67 mn = E\ﬁﬂa # (
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mﬂ'“lﬂﬂl
§7. What is the circum radius (in cm) of an

69.

70.

.

73.

equilateral triangle whose side is 9 cm ?

W 33 ® hf‘
€ 3 ) ¥
ghgogef;e El:s?inq number in the series
8% 8w

According o Haryanvi folkigre, Guggapir is
believed to be the protector of
{4) Human (B) Birds

(C) Cows (D) Snake
GPRS is used in mobile phones for
(A) Sending SMS

(B) Data communication

(C) Volce communication

(D) Mone of the above

This festival celebraled on the third of the
bright moonlight nights in the month of
Shravana.

(A) Gugga navami (B) Sanjhi

(C) Teej (D) Govardhan Podja

Which of the following is false for Watson

and Crick modal of DNA 7

(A} The helix has deép, wide major groove
and shallow narrow minor groove

(B) The two strands nun antiparallely

(C) A complete turn OCCUrS in every 34A°

(D} Adenine can binds to thyming by
3 hydrogen ponds and guanine can
binds to cytosine by 2 hydrogen
bonds

Which of the following s notastandardisation

organisations in the figld of Information
Technology 7

(A 150 (B} 151

(C) |EEE (D) ANSI
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1) on legalise abortion
yﬂ wm! :mWnT the following
m"m: ® tay
W f—pri, d (D) lrelan
(c
a traditional Punjabi ufal_ story-
* th:tcaﬁﬁtﬁsl:!u'l.t'l Asia with migrants
T:ﬂ.’glhﬂ prabian Pél‘lu'rsm;:.
(A) Rasalia (B) K'Tnah
(C) Guggd (D) Kissa
T6. l:ﬁ.andBare symmetric matrices, then

T8.

79.

8.

K

AB-BAIS

(&) Mull matrix

(B) S!In‘nmetnc matrix

(C) Skew-symmetric matrix
(D) Mone of these

Eariest evidence of garlic cloves in South
Asia was found here which dates 1o the

Mature Harappan Period.
(&) Babarkot (B) Bhirrana
(C) Balu (D} Farmana

In the context of online transaction, BHIM
refers to

(&) Bharat Interface lor Money
(B} Bharat Immediate Money Transler
(C} Bharal Interface for Maobile Mongy

(D) Bharat Inlernet for Money
Maharana Pratap fought against Mughals
in the historical battke of

(A) Chittorgarh (8) Haidighali
(C) Mewar (0} Lahore

Detimal equivalent of binary number
10100101 is

(A) 128 (€) 165
IC) 188 (D} 135

An essential leature of Federal Syslem 5
(1] saparation ol Powers

(B) Divison ol Powers

(C) Centralisation ol Powers

(D) Autonomy io States
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o | — Is used in cryoscopy to obtain | g2, m@m sy Fore AT Wl
the very low temperatures required for w0 R Fmeed g S
superconductivity, 'Y
{C) Krypton (D) Helium (c) fret (D) #ferm
g3, Complete the analogy. 83, wEET T #H | it
Ocean : Water . : Glacier: 7 ﬂ'f-'l'ﬁ‘l’ﬂ:ﬁ‘-iw"
{A) Mountain (A) TETE
(D) Deser (D) .
ATHE freAferiar
g4. Recently India's first 3D Planetarium was | gd4. ¥ ¥ 3 v T T sr:%m iy
' initg_.ug%miaﬁ in which of the following 1i 4 fipm T ﬁ b
cities 7 . o R
tarium, Delhi (A) ARCFEEET, . et
Eg\i gmm?uﬁmg%a Planetarium, (8) zarh m{::}-m AT B,
(<) "i"'.:ra :‘E::E:I:Iir, Porbandar (< mﬂ ai;‘iiﬁ.ﬁ“
(D) Mone of these {0} ¥F -
world fa—afm&mmﬁﬂﬁqﬂﬁm‘m““
g5. Kalka-Shimla railway, one of the 85. ﬂf Sl |
herilage Sites was puillt in the year e \ o — ) 1908
A) 1989 () 1906 e
{C} 1808 (D) 1888 (C) 1898 =)
[ ; st
g6. Operator used for dereferencing is 86. i ¥ T g
. al's
(A - EE: E” {[;G::I. IM D) >»
Sl iie i 2 f=m s v A 3 B
obile license | g7, af2 wRIE W W
g7. In hnwcan;a:: nwu%isﬂaeugplm cqnlﬂmr: am ¥ @ e T o fem
Elﬂasagiﬂerem digits followed by 3 differe AT e
digits 7 (A) 468000
&) 39000 (8) 39000
(c) 260 (C) 260
(D) None of these i (0) FHAwE T
dhist Council which was e Ak |
= Tﬁzlr:;?afa in 487 B.C. It was presided | 88 iq%‘:;i:lﬂm U;g] [
) M (B) ETEET
(C) Vasumitra o
(D) Mahasamghikas ED; g ﬁ“
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LT
lin
3-"2013 (4) Ennﬂmunm Fﬁﬁmﬂ !
- ?
ression and fill in the 95. PR AR AR T
gdect@mrredﬂ’“ (A) TW A FEH T |
planks - . the world a great (B) T A T AR
o o (€) TR A FEr g |
(A) knocked 17 (0) THAFEA AR
(8) knocked 00N e e
(€ knocked about gg. mi feen wErE e R
(D) knocked up (A 23 3
ankill was ____whenthe SR T
%0 I‘U‘Ii? E:: ::;iﬁmissed. (B) N
) patin (C)
() putout (D) TR HFA
(C) putiﬂ“‘"“" 97. ‘®Em’ WER W VEATE W W w9 R
©) # () =t (B) wghl
Identify the figure of speech in the following (C) TTFH (D) Hﬁ
genlence | - o
g1. “The child is the father of the man." 98, = R wed %ﬂ- PSRN
(&) Metlaphore (B} Antithesis (A) TR Tﬁ 3'_“““ N
(C) Epigram (D) Hyperbole (B) THW HH i # firerm o f T
92. “Milton ! thou should'st be living at this Wﬁﬂ b
hour." (C) @t wgEm = F
(A) Apostrophia (D) R R R i avil ¥ T W
lE} Simile i, T
(C) Euphemism 00, T I EW = TEEW U8 BH @ FWW
(D) Oxymoron 21
Fill in the blank with appropriate preposition (a) wgeltfiy (B) gl v
gelecting from the given n:::.mns.: . (©) T D) ==
| a s -
9. e mw_\'rﬂﬁgiles".:m | 100. ‘vl w=d wi3u el ' wam w wE=
Ay for B) o &
(C) through (@) by (A =13 = # 2n fremn |
o4 Lﬂ“ﬁ&?&“ﬁﬁ 1o nuin. o (8 Ha= R gufmm @
(A) for (8) in (C) Wl == %t 2u Rredeft |
(C) with D) to l (0) w18 7= %t zu REm wm ¥
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